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There are two types of Toich K’day Dibur — 3377 257572 TN °AN

Overview

The X3 reconciled the conflicting views whether >"1 maintains 712773 712°7 >72 710
M7, or not, by saying there are two types of 7"51n; and °"1 agrees to 7"21n in the
shorter version, but not in the longer version.! Mmoo clarifies the view of *o1 .
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Now according to this answer, the case of 7''91n in the 71wn of 792N, is in a case of

a longer 7''>'n -
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So, since >"7 maintains P''721n, but does not agree to 2'"'72n -
= 19927 YY9Y 129N 0199 D931 PPN D11 99257 315 TINT AN

It appears to N19010 that A'"'721n will not be effective even to clarify his words (his
intention), meaning that if there was a lapse of 37210 between 79w n7an and 2°»%w 17N it would
not be both -
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For it would only be like when today he says 721w n21%2n, and tomorrow he says
25w navan, that it is 292w 23927, which are not effective -
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And this is the explanation of °"7 in the (Xns"92) [7:wn], which stated, ‘if he

initially intended for this’ (that it should be 791 n7n and 27w nN) -
- ©%99%9 19927 729 NYINN 11INIY NPITY JOP 91257 313 TIN IMINY Y

Meaning that he said them both "2, which is similar to a case of 5% 71203,

his words are fulfilled and it becomes 7% N0 and 2°»5w NN -
= 997 99259239 192 2) 10N N9 199N

And even if initially he did not intend it for both, it is still 75w nmn and NN

MW, since P00 is AT M2 -
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However, continues *"7 in the Xn™72, ‘if he reconsidered’, meaning that he said
D°n2w NN after 3790 of saying 19w nnn, which is similar to 9971, in that case
it is a 779 9N, only -

999y 017w is the shorter version, and 71 > 7%y 017w is the longer version.
2 We initially inferred from that 7awn that > maintains 7 712°72 > 7"210. And we subsequently explained that the
reason is because it is a 2173 7"5n.
3 See previous 7221 1"7 '01n, TIE footnote # 5.
4 The w"wn amends this to a 71wn (not a XN»"2).
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Even if initially, he intended for both of them.

Summary
7207 and 771 mean 0P 7"510, and 7173 7010 respectively.’

Thinking it over

nooIN changes the meaning of 7711 11201 into »"7210 and 27210 respectively.® What
caused n1vOIN to learn this way. Perhaps 11201 is in all cases even if it is 37210, and
it is only by 79n1 that we distinguish between p"721n and 2"721n?7

5 See ‘Thinking it over’.
6 See ‘Summary’.
7 See ¥ MR "7 TR R"WN.
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